| Efficiency vs Dxy |
>0.05
X

S : : : : : : : : :
T e S [ s S Rt

B004f- o
Qo AR S |1 A S

K O] e S S| I S SR S
© Foo : : : B : : :

O e i S S | A it Sl Sl St
0.025f il
002— ------- e q ------- ot
L

X0 e e o e
e T e

1.

Ratio

=
!

09 56-15-10 =5 0 5 10 15 20 25

TP dxy (cm)

—=— DQM_TT__mkFit-DQM_original

| Efficiency vs Dz |

—— DQM_TT__mkFit-DQM_original_newwindows

N 0.2
© H H H H H
T S
& . f : : : : :
§ 016
(&) = H H H H H
N e o o e
c : : : : :
0,12 e e A B
1 JUURES RN SRS WSS S—
Q0B
008 o o .
O oo oo T R
0.02 - bevveeese T T + S S
5 5 |++¢*:+++++ + | 5

0
1

Ratio

0.9

10 2030
TP dz (cm)

|
w
o

I
o

|
|
o
o

0.8



	Contents
	Page 1


